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        5/ (5+15)        5/20= 0.25 
                                              
RR__________= ___________= 2.77 
                                              
     13/ (13+131)    13/ 144= 0.09 

 
	
	

FA 5 15 
RS 13 131 

RIESGO	DE	TROMBOEMBOLIA	
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Ie=	5/20=0.25	
Ine=	13/144=	0.09	
	
RA=	0.25-0.09=	0.16	
	

	
	
RA%=0.25-0.09										0.16	
														___________	=					_______	=0.64	x	100	=64	
																			0.25															0.25	
	
	
	
	
	
	

	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	



	

	
	
1=	Si	
2=	Si	
3=	Si	
4=	Si	
5=	No,	son	tan	comparables	porque	tiene	muchas	variantes,	simplemente	con	la	edad,	
varia	mucho	en	los	pacientes.	


